



名前: _____

日にち: _____ スコア: _____

$$\left(\frac{1}{4}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{6}\right)^3 - \frac{1}{6} =$$

$$\left(-\frac{1}{3}\right) + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{4}\right)^3 + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{3}{5}\right)^3 - \frac{1}{5} =$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{4}\right)^2 - \frac{3}{4} =$$

$$\left(\frac{1}{6}\right) - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{4}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{5}\right)^3 - \frac{1}{3} =$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{2}{5}\right) - \frac{1}{2} =$$

$$\left(-\frac{3}{4}\right) - \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right) + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{4}\right)^0 - \frac{1}{4} =$$

$$\left(\frac{1}{3}\right)^0 - \frac{1}{5} =$$

$$\left(-\frac{1}{3}\right) + \frac{2}{5} =$$

$$\left(\frac{1}{6}\right) + \frac{1}{2} =$$



名前: _____

日にち: _____ スコア: _____

$$\left(\frac{1}{4}\right)^2 - \frac{1}{2} = \left(-\frac{7}{16}\right)$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{2}{5}\right) = \frac{19}{25}$$

$$\left(\frac{1}{6}\right)^3 - \frac{1}{6} = \left(-\frac{35}{216}\right)$$

$$\left(-\frac{1}{3}\right) + \left(-\frac{3}{5}\right) = \left(-\frac{14}{15}\right)$$

$$\left(-\frac{1}{4}\right)^3 + \left(-\frac{1}{6}\right) = \left(-\frac{35}{192}\right)$$

$$\left(\frac{3}{5}\right)^3 - \frac{1}{5} = \frac{2}{125}$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{1}{5}\right) = \left(-\frac{13}{40}\right)$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{2}{5}\right) = \frac{77}{180}$$

$$\left(-\frac{1}{4}\right)^2 - \frac{3}{4} = \left(-\frac{11}{16}\right)$$

$$\left(\frac{1}{6}\right) - \left(-\frac{3}{5}\right) = \frac{23}{30}$$

$$\left(-\frac{1}{4}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{67}{192}\right)$$

$$\left(-\frac{1}{5}\right)^3 - \frac{1}{3} = \left(-\frac{128}{375}\right)$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{7}{50}\right)$$

$$\left(\frac{2}{5}\right) - \frac{1}{2} = \left(-\frac{1}{10}\right)$$

$$\left(-\frac{3}{4}\right) - \frac{1}{2} = \left(-\frac{5}{4}\right) = \left(-1\frac{1}{4}\right)$$

$$\left(-\frac{3}{5}\right) + \left(-\frac{1}{5}\right) = \left(-\frac{4}{5}\right)$$

$$\left(\frac{1}{4}\right)^0 - \frac{1}{4} = \frac{3}{4}$$

$$\left(\frac{1}{3}\right)^0 - \frac{1}{5} = \frac{4}{5}$$

$$\left(-\frac{1}{3}\right) + \frac{2}{5} = \frac{1}{15}$$

$$\left(\frac{1}{6}\right) + \frac{1}{2} = \frac{2}{3}$$